ANDHRA BANK PO EXAM

(Held 05-07-2009)

(4) Data inadequate {3) North-East
REASONING }. (5) None of these (4) South-East
: ‘Mustard'is related to ‘Séed’inthe 8. ‘Gram’ is related to ‘Mass' in the (5} None of these
same way as 'Carrot’is related to same way as 'Centimeter is re- |  14. How many such dlgﬂs are- there
? ' ' fated to 7 _ " in the number 5261983 gach of
{1) Fruit (2) Stem (1) Area {2) Volume which is as far away from the be-
(3YFlower - (4) Root (3)Length-  (4) Sound ginning of the number as when -
(5) None of these (5} Eneray the’ C!iniS are ar.rar_'lged in as-
. How many meaningful English | 8. Four of the following five are alike Ei':gmg' G TS
words can be formed with the let- in a certain way and so form a '
ters ESTR using each fetter only group. Which is the one that does {1) None (2.) One
once in each word ¢ not belong 1o that group 2 (3) Twa (4) Three
. {1)Nene {2) One (1) 12 (2)28 . (9) None of these .
{3y Two (4) Three (3) 52 - (4)68 15. What_shnuid come next in the
(5 None of these (5)96 following letter saries 7
. Four of the following five are alike | 10. Hf ‘white' means b!ack’ ‘black’ HGFEDCBAHGFE
in a cértain way and so form a means ‘red” ‘red’ means ‘blue’, bCBHGFEDGC GH
group, Which is the one that does ‘blue’ means ‘yellow' and ‘yellow' mF (2aG
not belong to that group ? means ‘grey’, then which of the (3) B {4) A
(1) Cup {2) Jug . following represents the colour of (8) None of these
(3) Tumbler  (4) Piate . clear sky ? L Directions (16 20} : lneachat the
15) Pitcher {1} blue (2)red questions below are given three state-
. Four of the following five are alike (3) yeilow , ments tollowed by two conclusioris
. in a certain way and so form a (4) Cannot be determined rumbered [ and I You have to take the
" group. Which s the one that does (5} None of these given statements to be true even it they
not belong te that group 7 11. How many such pairs of '.etters Lt e R s ] (s
~ {1)Copper  (2) Mercury are there in the word STAPLER | TOnIY known facts. Read all the con-
(3) Iron (4) Aluminium each of which has as many let- | Cusions and then decide which of the
) " ' . _ given conclusions logically follows from
(5} Zinc ' ters between them in the word 85 | 4,0 civen statements disregarding
. ‘FI'is related to 'L in the same in the English alphabet ? commonly known facts.
way as ‘PS’is relatedto . 7 (1) None (2} One Give angwer (1) if only Conclu-
vy {2)vzZ (3) Two (4} Theee sion | follows,
(3yWZ (4) UX {5) More than three Give answer (2) if only Conclu-
(5) None of these - 12. In a centain code MODEL is wril- | sion {) follows,
. Four of the following five are alike - ten a5 ‘51342 and DEAR is wiit- Give answer (3) if either Coriclu-
in & certain way and so form a ten as '3#%8". How is LOAD writ- | sjon i or il follows. :
group. Which is the one that doas ters in that code ? Give answer {4} if neither Can-
not belong to that group ? (1)21 %3 (2)23% 1 clusion | nor 1l follows.
(1)217 -(2) 103 (3)25%3 (M21#3 ‘Give answer (5} if both Conclu-
{3) 241 © (4} 157 {5) None of thesa sions | and H follow.
(5) 131 13. Town D is to the West of town M. | 18, Statements :
. Kis brother of T. M is mother of K. - Town R is to the South of town D, All benches are cots:
W is brother of M. How is W relat- Town K -i_s to the East qf towp’ R. No cot is lamp.
etiaY ? Tawn K is towards which direc- Some larfps are candies.
(1) Maternat uncle tion oftown D 7 Conclusfons :
(2) Paternal uncle (1) South 1. Some cots are benches.
- (3) Grandfather (2) East i, Some candics are cots. |



17. Statements ;

Some cats are dogs.

Alt dogs are goats.

All goats are walis,

Conclusions

I. Some walls are dogs.

. Some walls are cats.
18. Statemeants :

Some buildings are sofas.

Some sofas are benches:

Some banches are tables.

Conclusions :

I. Some tables are sofas.

. No table is sofa.
19. Statements :

All rats are bats.

- Some bats are desks. .

_All desks are chanrs

Conclusmns

[. Some desks are rats

Il. Some chairs are rats.
20. Statemeants :

Some roads are ponds.

All ponds are stores.

Some stores are. bags.

Conclusgions :

. Some bags are ponds.

it. Some stores are roads. .

Directions {21 —25) : Study the

following information carefully and an-
swer fhe questions given below :

P Q R S Tand M are six stu-

dents of a school, one each studies in
Class |-VI. Each of them has a favourite
colour from red, black, biue, yellow,
pink and green, not necessarily in the
same order.

Q likes black and does not study
in Class IV or V. The one who studies in
class 1V does not like green. P studies
in class If. M likes biue and does not
study in ciass IV. The one who likes
yellow studies in class V1. S likes pink
- and studies in ¢lass 1. R does not study
in class Vi.

21. In which class does R study ?

(v AR

v _

{4) Data inadequate

(5) None of these

22. Which colour doés R like 7 .

{1} Black {2) Yeltow

{3) Green’ {4) Blue

(5} None of these

23. Which colour does P like 7
(1) Green (2) Yellow
(3) Red '

(4) Data inadequate
{5} None of these

24. Which of the following combina-
tions is correct 7
(1Y P —H —Yellow
{2) Q -1t - Green
{3) S — | - Black
(4T -V - Yellow

{5) None of these
‘25, In which class does M study ‘?

(m {231

@1 4}V

- {5) None of these

Directions (26 — 30)  in the fol-
lowing questions, the symbols @,®, 3,
% and % are used with the following
meaning as illustrated below :

‘PO means ‘P is_not greater
than Q.

‘P % Q' means ‘P is not sma!ler
than Q.

‘P % Q' means 'P is neither smali-
er than nor equal to Q'

‘P @ Q' means P is neither great-
er than nor equal o @,

‘P $ Q' means ‘P is neither great-
er than nor smaller than Q. ,

Now in each of the following
questions assuming the given state-
ments 1o be true, find which of the two

conclusions | and |l given below them

isfare dafinitely true ? _

Give answer (1) if only Conclu-
sion | is true.

. Give answer (2) if only Conciu-
sion |l is trua.

Give answer (3} ﬁenherConclu-
sion | or i ia true.

Giva answer (4) if neither Con- |

clusion | nor lis true.

Give answer {5 if both Conclu-
sions | and il are true.

26. Statements : _
K@V,VONN%F
Conclusions:

L Fav I

27. Statements
HOWWSMM@B

. Conclusions:

KenN

I BxH H.
28. Statements -

D%B,BExT, TSM

Conclusions :

L TOD i

29. Statements :
MXxT T@K KON
Conclusions : '
L N4T "N
. Statements :
RS$J, J%D DxF
Conclusions :
L. D$R ‘. D@R _
Directions (31 —35) : Study the
following information carefully and an-
swer the questions given beiow :

Foliowing are the conditions for
selecting Personnel Manager in an or-
ganisation :

The candidate must—

(i} be a graduate with at least 50 per
cent marks.
(iiy have a post graduate degree/di-

"ploma in Personnel Manage-
ment/HR with at least 60 per cent
marks. ,

(iti) not be more than 35 years as on

 1.6.2009.

{W) have paost qualification work ex-
perience of at least five years in

-the Personnel/HR Division of an
arganisation.

{v) have secured at least 45 per cent
marks in the selection process.

" In the case of a candidate who
satisfies all other conditions EX-
CEPT— -

- {a)at {iii} above, but have post
qualification work experience
of at least ten years, the case
is t0 be retired to Director-Per-
sonnel.

(b) at (iv) above, but has post
qualitication work experience
as Deputy Personnel Manag-
er of at least three years, the
case is to be referred to Pres-
ident-Personnel.

In each question below are giv-
en details of one candidate. You have
tortake one of the following courses of
actions based on the infermation pro-
vided and the conditions and sub-con-
ditions given above and mark the num--
ber of that course of action as your an-

M%H

MeD

N % M



swer, You are not to assume anything

other than the information provided in |

each question, Ali these cases are giv-
en to you as on 1.6.2009.

Mark answer (1} if the candidate
is to be selected. -

Mark answer (2) if the candidate
is not to be selected. :

Mark answer (3) if the informa-
tion provided is inadequate o take a
decision.

Mark answer (4} if the case isto

be referred to Director-Personnel.
Mark anawer {5) if the case is to
be referred to President-personnel.
31. Meena Srivastava was born on
March 1978. She has been work-
ing as Deputy Parsonnel Manger
in an organisation for the past four

years after completing her post |

graduate diploma in HR with 68
per cent marks, She has secured
50 per cent marks in both gradu-
ation and selection process.

32. Ketan Desai was born on 5th
January, 1976. He has been work-
ing for a past five years in the
persormel department of an or-
ganisation after compisting his
post graduate diploma in person-
nel management with 64 per cent
marks. He has secured 40 per
cert marks in the selection pro-
cess and 52 per cent marks in
graduation.

33. Anant Joshi has been working in
the personnel department of an
organisation {or the past six

years. He was bom on 7th No-

vember 1977.He has secured 60
perwent marks in post graduate
degree in personnel manage-
ment. He has also secured 55 per

cent marks in both graduation and

selection process.

34. Mchan Bajpai was bornt on 10th
April, 1975. He has secured 55
per cent marks in graduation and
B5 per cent marks in post gradu-
ate dipfema in parsonnel man-

agement. He has heen working |

in HR Department of an organi-

sation for the past six years after

compléting his post graduate di-
ploma.

35. Gopal Sharma has been working

' for the past five years in the HR

Department of an organisation
after completing his post gradu-
ate diploma in HR with 62 per

. cent-marks. He has secured 50

37.

per cent marks in-both gradua-
tion and selection process. He
was born on 28th May, 1974,

. Arun Vohra has secured 55 per

cent marks in graduation. He has
been working in the personnel
department of an organisation for
the past eleven years after com-
pleting his post graduate degree
in personnei management with
65 per cent marks. He has se-
cured 50 per cent marks in the
selection process. He was botn
on 12th August 1972.

Asha Dhar 'has secured 52 per
cent marks in graduation and 62

. per cent marks in post graduate

39.

40.

degree in personnel manage-
ment. She has also secured 48
per cent marks in the selection

- process. She has been working

for the past seven years in the
personnel department of an o~
garnisation after completing her
post graduate degree. She was
bom on 8th June, 1974,

. Sudha Ghosal was born on 20th
October, 1976. She has been |

working on Deputy Personnel
Manager for the past four years
in an organisation after complet-
ing her post graduate degree in

HR with 67 per cent marks. She

has secured 60 per cent marks in
graduation and 45 per cent marks
in the selection process.

Amit Saxena was born on 25th
Juty, 1873. He has been working
in the personnel department of an
organisation for the past eleven
vears after completing his post
graduate dipfoma in HR with 70
per cent marks. He has secured
60 per cent marks in both gradu-
ation and selection process. . -

Navin Das was born on t4th

April, 1978. He has been work- .

ing in the personnet department
of an organisation for the past six
yedrs after completing his post
graduate diploma in HR with 65
per cent marks. He has secured
45 per cent marks in both gradu-
ation and selection process.

Pirections {41-45) : In each
question below is given a group of Jet-
tars followed by four combinations of
digits/symbols numbered (1}, (2), (3)
and (4). You have to find out which of
the combinations correctly represents
the group of letters based on the fol-
lowing coding system and the condi-
tions and mark the number of that com-
bination as your answer. i none of the
four combinations correctly represents .
the group of letters, give {5) i.e. 'None
of these’ as the answer.

Letters | M[DiRIP]A[T|wlE[i [Fln]UK]zZ
Digit

Symbol _
Code (5[B|#i7]|8|1]|@|8|2]%|3|@|4]9
Conditions :

{i) Wthefirstletteris aconsenantand
the last letter is a vowel, thefr
codes are o be interchanged.

{ii) H both the first and the last letters
are vowels, both are to be coded
as ¥.

If the first tetter is a vowe! and the
lastletteris a consonant, beth ave

" to be coded as the ceode for the

| (i)

consonant,
41. TUKDJIP
(1) 1©4827 . (2) 104621
(3) 704621 = {4) 106427
{8) None of thess
42. EFDMKA
(1) $%6548 (2) $%:654%
(3) *%654% (4} B%A548

{5) None of these
43. APWTUH
(1) *7@10% {2)87@103
(3) 37@1©8 (4)B87@108
{5) None of these
44. MARTWE
(1) 5841@%
(2) 5841 @5
- (3) $B#1@5
(4) 38#1@5
(5) None of these
45. HEMKZI
(1) 2$5493 -
(2) 345492
(3) 385493
(4) 285492
(5} None of these

Directions (46-50) : Study the
folfowing information carefully and an-
swer thg given questions :



A word and number arrangement
magchine when given an input line of
words and numbers rearranges them
follawing a particular rule in each step.
The foliowing is an illustration of input
and rearrangement.

Input  : base 35 or gone 62 49 87
ahead
Step | : 87 base 35 or gone 62 49
ahead :
_Step It . 87 ahead base 35 or gone |
62 49 '
Step Il ; 87 ahead 62 base 35 ar
gone 49
Step IV : 87 ahead 62 base 49 35 or
gone
Step V : 87 head 62 base 49 gone
: 35 or
and Step V is the last step of the
rearrangement.

As per the riles followed in the
above steps, find out in each of the fol-
lowing questions the appropriate step
for the given input.

44. Input : how was your stay 56 25

36 64

- Which of the following will be step
vI®?

(1) 64 how 56 was your stay 25

36

(2) 84 how 56 stay 36 was 25 your

(3) 84 how 56 stay 36 was your,

25
{4) There will be no such step
{5) None of these -
47. Input . power fail now 52 24 75
gate 34

Which of the following steps will

be the last but one ?

MV @2V

(3)vI (4) Vil

{5) None of these

48. Step W of an input is : 91 car 85

14 27 few new house

Which of the following is definite-

ly the input ?

(1) 85 14 91 car few new house

{2Ycar 91 85 14 27 {ew new
house -,

(3} car 85 14 27 few new house
91

(4) Cannot be determined

{5) None of these

49, Step Ii of an input is : 75 down 16
24 farm eager 62 sky

How many more steps will be re-
quired to complete the rear-
rangement ? '
(1} Four {2} Five
(3} Six {4y Seven
" (5) None of these

50. Input : 14 35 when they came 61
48 home .

- How many steps-‘will be required
to complete the rearrangement ?
(1) Four ~ {2) Five
(3) Six {4} Seven
(5) None of these

Directions (51— 55) : Below in
each question are given two statements
(A) and (B). These staternenis may be
either independent causes or may be
effects of independent causes or a
common cause. One of these state-
ments may be the effect of the other
statement. Read both the statements
and decide which of the following -an-
swer Choices correctly depicts the re-
lationship between these two state-
ments. :

Mark answer (1) if statement (A)
is the cause and statement (B} is its
effect. :

- Mark answer {2) if statement (B)
is the cause and statement (A) is its
effect. '

Mark answer {3} if both the

“statements (A) and (B) are indepen-

dent causes.

Mark answer (4) if both the
statements {A) and (B) are effects of
independent causes.

- Mark answer (5} if both the

~statements (A) and (B) are effects of
| s0me common cause. -

51. {A) Many elderly people are
continuousgly harassed by
the youngsters in thé locali-

(8} Many children living in the
iocality play til late in
evening. .

52. (A) The state government has
~ decided to change the syfla-
bus of Mathematics for Std.
IX from the next academic
year. )

(B} Many students from the state
could not secure admission
to the colleges of their

- choice.

53. (A) Majority of the employeges of
the manufacturing company
received a hefty bonus at the
end of the current financial
year.

{B} The manufacturing campany
has made considerable prof-
it in the current financial year.

54, (A) The municipal authority de-
cided to carry out repair work
of the pipeline under the main
arterial road of the city,

(B} vehicutar movement has
been diverted through. alter-

nate roads for a period of fif--
teen days.

55. {A) There is a significant drop in
the number of people travel-
ling by air during the last quar-
ter. N

"~ (B) There is a significant drop of
the number of people travel-
ling by long distance trains
during the last guarier.-

Directions (56 ~ 60) : In each

gquestion below is given a statement
followed by two courses of action num-
bered | and il. A course of aclion is a
step or administrative decision to be
taken for improvement, folkow-up or fur-
ther action in-regard to the problem,
policy, efc. On the basis of the informa-
tion given in the statement, you have to
assume gverything in the statement to
be true, then decide of the suggested
courses of action logically follow(s) for
pursuing. 0 '

Give answer (1) if only course of

action | follows. ,

Give answer (2} if only course of

action il follows. _

Give answer (3) if either course

of action | or lf foliows. . '

Give answer (4} if neither course

of action i nor |l follows. ‘ '

Give answer (5) if both courses

of action ! and Il follow.

56. Statament : Drinking water sup-

ply to many parts of town is dis-

. rupted due to loss of water be-
cause of leakage. in pipes sup-
plying water.

Courses of action :

. The government should or-
der an enquiry into the mat-
ter. '



57.

58.

. Statement -

II. The civic body shouid set up
a fact-finding team to assess
the damage and take effec-
tive step.

Statement: There is an alarming

increase in the number of haopie

suffering from malaria in many
parts of the city.

Courses of action :

. The municipal corporation
has advised all the govermn-
ment hospitals to store ade-

*  quate supply of malaria

- drugs. &
Il.” The municipal corparation

has urged peopie to use

mosquito repellants and
keep their premises clean. .
Many people have
encroached into the government

property and built their houses |

and business estgblishments.

Courses of action :

. The government should take
immediate steps to remove
all unauthorised construc-
tions on government land.

ii. All the encroachers should
immediately be put behind
bars and also be slapped with
a hefiy fine.

Statement : The metecrological |

department has predicted normal

rainfall - throughout the country

during the current mensoon.

Courses of action :

I. ' The government should re-
duce the procurement price
of foodgrains for the clirrent
year.

ii. The government should re-

duca subsidy on fertilizers for
the current year.

Statement : The number of drop-

- outs in government schools has

significantly increased in the ur-

ban areas over the past few

years. '

Courses of action :

. . The government should im-
mediately close down- all

such schools in tha urban ar-.

eas where the dropout goes
beyond 20 per cent,

. The parents of all the stu-

dents who dropped out of the
govemment schools in uthan
_ areas should be punished.

Directions {61 — 65) : In each
guestion below is given a statement
followed by two assumptions num-
bered | and Il. An assumption is some-
thing suppdsed or taken for granted.
You have to consider the statement and

the following assumptions and decide’

which of the assumptions is implicit in
the statement.

Give answer (1) if only Assump-
tion | is implicit. _

Give answer (2) if onky Assump-
tion |l is implicit.

Give answer (3) if either Assump-

tion | or Il is implicit.

Give answer (4} if neither As-
sumption 1 nor 1t is implicit.

Give answaer (5} if both Assump-
tions E and Y are imphcit.

61. Statement : Many people fell ill
after consuming meal at a wed-
ding reception and were rushed
to the nearby govemmeni and
private hospitafs.
Assumptions ;

l. The relatives of lhe affected
‘people may refuse to take
them to the Government hos-
pitals. _

H. The nearby hospitals may be
able to attend to all the affect-
ed people.

. Statement; The government has
recently announced incentive
package for setting up new busi-

' ness ventures in the rural areas

and promised uninterrupted .

power supply to all the units.

Assumptions :

[.  The governmeni may be able
to supply adeguate power to
all such units,

. People living in the rural ar-
" eas may welcome the gov-
-ernment decision.

. Statement: The municipal au-
thority blocked movement of traf-
fic in and around the temple dur-
ing the main festival city.
Assumptions
I.  Very large number of devo-

tees may visit the temple dur-
ing the main festival day.

. People travelling to the areas

near the temple may post--

pone their journey by a day
unless they have very urgent
work in that area.

64. Statement: The government has
instructed all the private schools
in the city to maintain the current
fees for at ieast two more years.
Assumptions ;

. The authaorities of ;erale
schools may not follow the
govemnment instruction as
they are not dependent on
govermment funds. '

Il. The parents of the students
of private schools of the city
may still be eager to pay high-
er fees, _

Staternent : The municipal au-

thority has decided to demolish

the old bridge on a busy road for
constructing a new flyover.

Assumptions :

- 1 The traffic department may
be able to divert movement
of vehicles through altemate
roads.

. The people {ravellmg in-tha’
nearhy areas may demon-
strate 10 protest against the
authority’s decision.

Directions (66 — 75) : In each of

the questions given below which one

of the five answer figures should come
after the problem figures, if the se-
quence. were continued 7 -

66. Problem Figures

65.

TS Engm
M=y L= 31T
Answer Flgures :

G |G |G | |
X— 1 %— ] x| %— | ¥
] e ] | e
(n @ 3 @ (6
67. Problem Figures
08¢ YN R A
B kot cld =
1 804 *|A0 N€e g
Answer Figures .
?&“m:@x:qg:xCxQQ
P Nijo Ni® Nt NP N
(1) (2) (3} (4} (5
68. Problem Figuras
Foyi
Clapaldise]
Answer Figures
LaEdEEdES




69. Problem Figures
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- 70.

Problam Figurés

[
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Answer Figures

S
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Directions {71 — 75)

~ that pair is your answer.

. 1 In each of the following questions, a retated pair of
. figures {unnumbered) is followed by five numbered pairs of figures. Out of these
five, four have relationship similar t¢ that in the unnumbered pair._ Only one pair
of figures does not have similar relationship. Select that pair of figures which
does not have a similar relationship to that in the unnumbered pair. Number of

1. |nuD.> c:unu:]cn:éuunn_:cucc,u
c o N NnaiCuluuiadnnicclcinulp nine
BREEi il mpliinliionlirino

_ I 2 3 4 5

72. . T T

Clug] i E | B s d
T LW SRR ERER:EREREREE
- T 2 3 4 5 °

T3, o=o==x YO FYYYNArT FFFF Tx r 'Ae.;sm FS0,EC
R Bl I{I See [ SH ET
1 iT % [ 1 e Prore | i 1hu

T 2 3 4 5

74. TS : —T =

T rio|lyio]l1r  n|l1ieE|IE
' 1 2 3 4 5

B4 PN elean A o Z AR AE SE 2 T
< g A e N Lot o PN NP N N N L
1in gl ol ri o liln

1 2 3 4 5
1

[QUANTITATIVE APTITUDE | @) - (4) %
Directions {76—80) : What will (5) None of these

come in place of the question mark (?) 3 4 2 '

in the following questions ? 78. 5 of o of 5 of 730=7 '

76. 2.8 x 1.5 + 8% of 250 = ? '

6 o ;42‘5"3 of 250 (1) 86 (2) 146
(2) 24.02 (3) 156 (4) 83
s (5} None of these
(3) 242.2 29, 87 x 26 - g24 = g?

(4) 2.42 (1) 10.6 (2) 9.6
(5) None of these (3) 86 (4) 66
' 2 1 1 ., - (6) None of these
77 3?‘2—4“1;=. 2§ 80. 160% of 250 + ? = 120% of 400
: : (1) 160 (2) 40
(1) 1% @ 1% (3) 80 (4) 120

{5) None of these

Directions (81-85) : What wilt’

come in place of the question mark {?)
in each of the following number series ?

81.

82.

a3.

2 8 26 7 242
(1) 78 2) 72
(3) 82 (4) 84
{5) None of these
3 4 12 7 196
(1) 45 (2} 40
(3) 41 (4)-49
{(5) None of these
9 17 ? 65129
(1) 32 {2) 24
(3) 35 (4) 33
(5} None of these
7 137 49 97
(1} 27 (2) 25
{3) 23 (4) 29
{5} None-of these

.5 3 6 2 6475
{1) 15 (2) 15.5
3y 17.5 {4) 17.25

{(5) None of these

. Qutof 5 women and 4 men acom-

_ mittee of three members is to be

87.

88.

- 89,

" (3) 76

formed in such a way that at least
ong member is a woman. In how
many differermt ways can it be
done ? . |
(1) 80 (2) 84

(4) 96 -

(5} None of these

Presert ages of Amit and his fa-
ther are in the ratio of 2 : 5 re-
spectively, Four years hence the

- ratio of their ages becomes 5 11
-respectively. What was father’s

age five years ago ?

(1) 40 years (2} 45 years

(3) 30 years (4) 35 years

(5) None of these '

Twice the square of a number is
six ttmes the other number. What
is the ratio between the first num-
ber and the second number ?
(1) 1:4 {2) 2:5

(3)1:3 :

{4} Cannot be determined

{5) None of these

Manoj sold an article for Rs.
-15,000. Had he offered a discount
of 10% on the selling price he

- would have sarned a profit of §%.

What is the cost price ?



9.

23.

94,

95.

{3) Rs.

{3) Bs. 12
{5) None of these

(1) Rs.
{2) Rs.

12,500

13,500

12,250

(4) RAs. 13,250

{5) None of these

Cost of 8 pens and 4 pencils is
Rs. 176 and the cost of 2 pens
and 2 pencils is Rs. 48. What is
the costof one pen ? .

(1) Bs. 16 {2) Rs. 14

(4) Rs. 18

in how many different ways can
the letters of the word TOTAL be

arrangad ?
{1).120 {2) 60
(3) 48 {4) 72

{5} None of these

. If the area of a circle is 616 cm 2,

what is its circumference?
(1) 76em.  (2) 84 em.
(3) S6cm. - (4} BOcom.
(5) None of these

B and C together can complete a
work in 8 days, A and B together

can complete the same work in

12 days and A and C together can
complete the same work in 16
days. in how many days can A, B
and C together compliete the
same work ?

_ o 5
M3g @7y

5 5
375 {4) 3?2“

(5) None of these

What will be the compound inter-
est acerued on an amount of Rs.

10,000 at the rateof 20 p.c.p.a.in |

two vears if the interest is com-
pounded half vearly ?
(1) Rs. 4,400 '

. (2) Bs. 4,600

(3) Rs. 4,641

‘(4) Rs. 4680 -

(5) None of thess . '

income of A is 150% of the in-
come of B and income of C is
120% of the income of A. If the
{otal income of A, B and C togeth-

er-is Rs. 86,000, what is Cs in--

come ?
{1) Rs, 30,000
{2) Rs. 32,000

{3) Rs. 20,000

(4) Rs. 36,000

(5) None of these

Directions (86 — 100) : What ap-
proximate value wil come in place of
the question mark (?) in the following

questions? (You are not expected to

calculate exact value).
96, 7999.99 + 72 x 4999 =7

(1) 12000  {2) 12600
(3) 12500 . (4) 11600
(5) 11000

1 97. (25.01)2 - (15.99)2 =7
(1) 361 (2) 381

{3) 369 (4) 375
(5) 356 _
98. 380 x 12:25 — 365 + 15 =.7

(1) 4500 (2} 4550
(3) 4800 (4} 4850
(5) 4630 _ :

99. 180% of 25501 + 50% of 28999
=7
(1) 62400  (2) 64000
{3) 60400  (4) 64200
(5} 61600

100. 171.995 x 14.995 + 25 = 2
(1) 105 (2) 115
(3) 110 {4) 125
{5) 120

Directions (101 — 105) ; Each of
the questions below consists of a ques-
tion and two statements numbeared |
and |l are given below it. You have 1o
decide whether the data provided in
the statements are sufficient to answer

1 the question. Read both the statements

and .
Give answar (1) if the data in

Statement 1 alone are sufficient to an-.

swer the question, while the data in

Statement Il alone are not sufficient to-

answer the guestion.

Give answer (2) if the data in-

Statement il alons are sufficient to an-
swer the question, while the data in
Statement 1 alone are not sufficient to
answer the question.

Give answer (3) if the data in
Statement | alone or in Statement If
alone are sufficient to answer the ques-
tion.

Give answer (4) if the data in both
the Statements | and Il are not sufficient
to answer the question.

Give answer (5) if the data in both
the Statements | and H together are
necessary to answer the guestion.

CAUTION : Do not mark your an-
swer unless you consider both the state-
ments carefully.

101. What is Nikita’s share in the proflt

of Rs. 50,000 earned in the busi- .

ness run by her in partnership with

Shamita ? .

I. Nikita invested an amount
150% of the amount invest-
ed by Sharmila.

. Amount invested by Sharmi- -

la is two-third of the amount
invested by Nikita.

What is the two digit number ?

I.  Sum of the digits is 6.,

I Digitin the ten’s place is dou-
ble the digit in the unit's
place.

Whatis the rate of interest p.c.p.a.

?

. The amount doubles itself in
10 years.

Il. The simple interest accrued
in 5 years is Rs. 5,000.

In how many days can 8 aione

complete the work ? '

I. B and C together can com-
plete the work in 8 days.

. A and B together can com-

" plete the work in 12 days.

What is the mother’s present age?

I. Present ages of mother and

~ child are in the ratio of 5 : 1
respectively. _

. Four years hence the ratie of
the ages of mother and child
will be 17 : 5 respectively.

Directions (106—-110) : Study the

folowing table carefully to answer

these questions : .

TABLE SHOWING NUMBER (IN
LAKHS) OF INSTRUMENTS MANU-

FACTURED BY SIX COMPANIES QVER
THEYEARS

102.

103.

104.

105.

Company| AY{B|C|D|E|F
Year y

2002 45| 35]48[42|501 49
2003 40| 32|52 46| 48| 45
2004 48| 36150 43]56[438
2005 491 37145] 48] 52| 44
2006 46| 30155 | 50{ 54 [ 50
2007 52|38[47|40|511{52




106.

107,

What is the average number of
instruments manufactured by
company G ior ali the given
years ?

(1) 49,00,000 {2} 49, 50 ,000
(3) 48,50,000 {4} 48,00,000
{5} None of these

The number of instruments man-
ufactured by company E in 2004
is approximately what per cent
of the total number of instruments
manufaciured by all the compa-
nies together in 2004 ?

. (1) 23 (2) 26
{3) 20 (4) 16
{b} 18
Total number of instruments man-

108.

- ufactured by company A is ap-
-proximately what per cent of the

total number of instruments man-

ufactured by company F for all the |

given years together ? -

(1) 87 (2) 87
(3) 92 (4) 80
(5) 85

108.

Thea number of mstrumenls man-
ufactured by company B in 2005
is approximately what per cent
of the total number of instruments

manufactured by company B in | -

all the years together ?

{1y 20 (2) 18
(3) 14 - (4) 18
(5) 22

110.

What is the ratio betweon the to-
tal number of instruments manu-
factured by all the companies to-
gether in 2007 and that in 2006
respectively ?

{1) 56:57 (2} 57:56

(3) 29:28  (4) 28:29

{5} None of these

Directions {(111-115) : Study the

following graph carefully to answer

" these

questions.

POPULATION OF TWO STATES -
(IN LAKHS) OVER THE YEARS

110
110

Populatlon (in lakhs)

B staie A

[] stateB

o
Lt

12002 20032004 200520062007
YEAR

111,

112,

3.

114.

118,

the following information carefully to |

(4) 18=

Population of State B in 2002 is
what per cent of the total popula-
tion of State B in all the years 1o-

gether ? {Rounded off to two dng- '

its after decimat).
(1) 8.26

(2) 7.26

(3) 8.32

(4) 7.82

(5} None of these

What is the ratio between the to- -

tal population of State A for the
years 2001, 2002 and 2003 to-
gether and the total population of
State B for the years 2005, 2006

and 2007 together respectively ? -

(1) 27:53

(2) 54:29

(3} 29:54

{4) 53:27

{5) None of these

For which State and in which year

the per cent rise in population:

from the previous year was the
highest ?
(1) State B — 2003

(2) State B —2002

(3) State A — 2004
(4) State A —2005
(5) None of these

What is the per cent fise in popu-
lation of State B from 2003 to

20047

1
(1) 163

2
@) 163

1o 8
(3) 185_

3

(5} None of these
Approximately what is the aver-
age population of State A for ail
the given years 7

{1) 65 lakhs

(2) 50 lakhs

(3) 48 lakhs

{4) 58 lakhs

{5) 52 takhs _
Directions {116 — 120) ; Study

answer these questions,

PERCENTAGE OF EMPLOYEES IN VARIOUS
DEPARTMENTS OF AN ORGANISATION AND

THE MALE-FEMALE RATIO

* Total Number of Employees = 2500

IGperators
|l :B%n

Male : Female Ratic
Department Male : Female
Administration 7 : &5
Accounts 2 3

~ HR 5 3
Marketing 7 8
o 3 4
QOperations 5 4
Logistics 6§ : 5
Printing 2 1

118.

117.
" total number of empioyees in IT

118,

What is the ratio between male
emplayees in Administration and
Printing Departments respective-
Iy 7

(1) 7:4 2) 4:7
{3)3:4 4) 7:3

{5} None of these

What is the difference between

and Operations Departments ?
(Y 75 (2} 150

{3) 100 {4) 50

{5) None of these

What is the ratic between total

~ number of males in HR and Mar-

‘118,

120.

(3) 125.

keting and the total number of fe-
males in these two departments
respectively 7

(1) 13:15 (2) 15:13

(3) 13:17 () 17:14

{5) None of these o
How many femals employees
are there in HR Department ?
(1) 250 (2) 120

{4y 150

(8) None of these _
What is the difference between
the male and female employaes

" in Logistics Departrmant .?

(1) 50 (2) 25
(3) 75 (4) 100
{8) None of these



Directions (121—125) : Study the following table carefully to answer these

questions.
PERCENTAGE OF MARKS OBTAINED BY SIX STUDENTS IN
DIFFERENT SUBJECTS
Subject His Geo | Math Sci Eco Eng
Maximum ' ' ' '
Marks 50 50 100 75 100 120
Student
A 86 82 77 72 69 86
B 80 74 73 66 76 84
C 68 92 89 78 75 72
D 76 84 83 81 59 60
E 72 66 82 87 &2 78
F 84 64 93 63 81 54
Note : His — History, Geo — Geography, Math — Mathematics, Sci — Science

|

Eco — Economics, Eng — English

121,

123.

124,

125,

What are the average marks ob-
tained by all students in Geogra-
phy 7 '
(1) 415
{3) 385

(2) 42.5
(4) 39.5

- {8) None of these
122.

Marks obtained by E in Econom-
ics are approximately what per
cent of the total marks obtained
by him in all subjects together 7
(1) 12 (2) 8 '

(3) 10 (4) 22

{6) 17

What is the overal! percentage of
marks obtained by all the students
in English ?

{1) 83 {(2)69 -

(3) 71 (4) 81

(5) None of these

What are total marks obtained by
D in History, Mathematics, Sci-
ence and English together ?

(1) 256.25.

{2) 275.55

(3) 235.75

{4) 253.75

{5) None of these

What are the total marks obtained
by ‘B’ in all subjects together ?

(1) 376.3 {1) 3736
(3) 376.6 (4) 373.2
(5} None of these

((GENERAL AWARENESS

127

128.

126. The Government of India decid-

ed to scrap the import duty on cot-
ton and also withdraw incentives
on the export of the same. How
will this action of the government
affect the cotton market in India ?

{A) More and more traders will

be able to import cotion as

~ there is no import duty on it.

(B) The price of the cotton in do-
mestic market will come
down.

(C) More and more farmers will
now-siart growing cotten.

(1) Oniy A {2)0Only B

(3)Oniy C -

{(HAIAB&C

{5) None of these

As per the reports in the financial -

newspapers CCEA cleared
many FDI proposals recently.
What is the full forrn of CCEA ?

{1) Cabinet committee on Eco-

nomic Affairs

* {2) Congress Commitiee on Eco-

nomic Affairs
(3) Cabinet Committee on Emer-
gency Accounts
(4) Clearance Committee on Ex-
port Accounts
(5) None of these _
The Vishnugad Pipalkoti Hydel
power project is heing devel-
oped on which of the following
rivers ?

129,

130.

131,

| 132.

133.

(1) Ganga

{2) Alaknanda

{3} Yamuna

{4} Sabarmati

(b} None of these

Despite the rampant volatility in
the market trends and rising costs
all over the world, some countries
were.able 10 grab the business of
outsourcing IT and BPO services
from some big countries. Which
of the following had been the

-most favoured. nation during

2008-09 for the same?

(1) Ghina~ {2) South Korea

{3} India (4) Brazil

(5} None of these

The facility which allows mobile

subscribers to switch from one

setvice provider to another with-

out any changing their mobile

number is known as Mobile Num-

ber _ o

(1) Protectability

{2) Portability

{3) Promotability

(4} Permeability

{5) None of these

Which of the following economies

is NOT in the top 10 economies of

the world ?

(1) USA

(3) Germany

(5} South Africa

Which of the following banks has

opened the country's first “Cash

Factory” in Lucknow which will is-

sue currency notes to all its

branches.arid ATM in that area ?

{1} Bank of india

{2) Bank of Baroda

{3) State Bank of India

(4) Union Bank of india

(5} Mone of these .

Many times we read in newspa-

pars that the RBI has revised cet-

tain rates/ratios under LAF. ‘What

is the fulf form of LAF 7

(1) Legal Adjustment Facility

(2) Liquidity Adjustment Facility

{3) Longterm Achigvement Facil-
ity

{4) Legal Adjustment Formallty

{5} None of these

{2) Japan
{4).China
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134,

135.

136.

137.

{3)Only

Which of the following state-
ment(s) is/are correct about the
Aam Aadmi Bima Yojana (AABY)
{aunched by the Union Govern-
ment ? '

(A} The scheme is drawn to in-

clude another one crora ben-
eficianies in the scheme by the
“end of September 2009,

(B). The scheme was announced
to provide insurance cover to
those women workers who
come for job under National
Rural Employmenl Guaran-
tee Act.

{C) Under the scheme, the cen-

tral government bears the
entire amount of the premi-
um which is around Rs. 6,000
per year for each beneficiary.
{1) Only A {2) Only B
(4} AIAB&C
{5) None of these _
As per the Interim Budgst of the
Union Government for 2008-10,
around Rs. 1,31,000 crores were
allocated for various flagship pro-
grammes of the Government of
India. Amongst these, one partic-
ular programme is given at Rs.
41,000 crores as it is aimed at
development of infrastructure in

the rural areas of the country.

What is that programme ?

(1) Rajiv Gahdhi Rural Drinking
Water Mission

(2) Rural Employmeént Guaran-
tee Scheme

{3) Jawaharlal Nehru Urban Re-
newal Scheme

- {4} National Rural Heaith Mission

(5} None of these

Who amongst the following was
the chairperson of the committes
set up for Financial Sector As-

sessment by the Government of

India and RB! ?
(1) Dr. Rakesh Mohan
{2} Dr. D, Subbarao

{3} Mr. Pranab Mukherjee

(4} Mr. P. Chidambraram

(5) None of these

As per the reports published in
the newspapers the use of credit
cards in India has gone down by

138,

139.

140.

about 8% during 2008-09. What

are the main reasons for same ?

(A) High interest rate charged by
the card companies.

{B} Rise in delinquency level re-
. lated to use of credit cards.
{C) Government policies which

do not allow-the launch of
new credit cards by the
banks. '
(1} Only A (2) Only B
{3) Only C (4) AlA,B&C
(5} None of these
As per the reports in the media
the exports from india has gone
down by 13% in the last few
months, What steps has the Union
Government taken to boost the
same 7 :
(A} Customs duty under export

promotion capital goods.

scheme was cut to 3% from
the earlier 5%.

(B) Special incentives of Rs. 325
crore were announced for
sectors like handmade car-
pets, leather and textiles.

" (G} Excise dut)'r on the goods pro- | .
duced exclusively for exposts |-

is withdrawn fully.
(1) Oniy A (2) Oniy B
(3)Oniy C (4)Both A& B
(5) None of these _
Which of the following states in

India is at the top of the Invest-
ment index prepared by the World

Bank 7 -
(1) Gujarat
(3) Karnataka (4) Tamil Nadu
(5} None of these

The G-20 Summit was organized

in London on 2nd April, 2009.
Which of the following announce-
ment(s} was/were made in the
summit ?

(AY US $ 1.1 trillion will be pro-

vided to restore credit, growth
and jobs in the world econo-
my.

(B) A wider global regutation will
be launched to protect banks
from the toxic asssts.

{€) A Financial Stability Forum
will be established with the
assistance of IMF,

{2) Maharashtra

141.

142,

{3 Ony G
{(BJANA,BandC

(1)OnlyA  (2)OnlyB

(4)Both A&B

The Government of India recent-
ly provided an amount of Rs.
65,300 crores to about 3.6 crore
farmers in india. What was the
purpese of the distribution of this
much amount to the farmers ?

(1) To enable them to purchase

tractors and other hi-tech ag-
ricuitural machines
(2) This was given fo them as a
" debt waiver and refief pack-
-age

(3) To provide them fertilizers and -

advanced high yielding seeds
for the next harvesting season

{4) The help them to avail inter-

net services and update their

knowledgde about the farming
techniques and adopt new
methods of the same

(5) Nong of these

Which of the following is true

about Value Added Tax (VAT) ?

(A} Itis a consumption tax fevied

on value added to the prod-
uct on every siage of its pro-
duction.

(B} VAT is levied by the Unjon
Government and only a small
part goes to State Govern-
ments.

(C) The income tax on retaiiers
is how decided on the basis
of their VAT collection in a

_ year. _
" (1) Only A {2) Only B
(3)Only C () AIlA,B&C

143.

144,

{2) None of these

Mr. Najib Razak is the new Prime
Minister of

(1) Myanmar {2) Indonesia
(3) Malaysiad  {4) Thailand

(5) None of these

India recently signed an agree-
ment with the European patent

. office. How would this agreement

be helpful to our country ?

- (AY It will hetp India to protect its

traditional knowledge of med-
icines.

-{B) India’s Traditional Knowtedge

Library which s in digital form

- will now be available to the
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148.

* Patent Examiners at the Eu-
ropean Patent Office.

~(C}India will have the right to

grant patents for ali its tradi-
tional medicines and herbs._

(1)OnlyA  (2)Only B
(3)Only G (4) All the three

- {5) None of these
145.

The 21st Arab League Summit
was held in which of the follow-
ing countries in March 2009 ?
(1) Saudi Arabia

(2) Iran

(3} Qatar

(d4) UAE

{5} None of these

India recently got a consignment
of 60 tonnes of uranium from
which of the following countries
to be used in Rajasthan Atomic
Power Station ?

(1) UsSA (2) Canada
~(3) France (8) South Korea
(5) China

147.

148.

India and Chile recently agreed

to allow Free Trade between bath

the countries. What does it really

mean ?

{(A) India can sell any product to
Chile and Chile can also sell
any product {0 India.

(B} India and Chile both will-sell

goods or services to each oth-
er utthe payment for the same
will he only in return goods.
No hard cash will be paid for
such transactions.

(C)Whaiever goods both of them

will import or export, the pay- |.

ment will be made only in US
dollars and only cash trans-
action will take place.

(HOnlyA  (2)OnlyB
(3)Only C (4)Both A& B
(5} None of these

Which of the following

statement(s) is/are correct about
the Global Hunger Index pub-
lished recently 7

(A)The Index is prepared every-

year by the United Nations
Food Programme (WFFP).

(B) As per the report about 27% |

of world's undermourished
population lives in India.

149,

150.

151.

152.

153,

" (C)The number of undernour-

ished is more in urban areas | -

than the rural one.
(1)Oniy A .
{2)Oniy B
{3) Only C
{4) All the three-
(5) None of these
The FPresident's Rule was im-
posed in which of the following
North-Eastern States in March
2009 7
{1) Nagaland
{2} Assam
(3} Arunachal Pradesh
(4) Meghalaya
(5) None of these
Arvind Bhat won the 23rd Nation-

al Badminton Championship heid "

in indore by defeating
(1) Nikhit Kanetkar
{2} P. Gopichand

(3) Nandu Natekar

(4) P. Kashyap

(5) None of these

Who amongst the following be-
came the first woman pilot in the
world to fly MIG-35 fighter ptane ?
(1) Suman Sharma

(2) Saudamini Deshmukh

(3) Kirsty Moore

(4) Nicole Malachowski

(5) None of these

The 14th Summit of the Associa-
tion of South-East Asian Nations
{ASEAN) was organized in which
of the following countries ?

(1) Vietnam (2} Myanmar

(3) Indonesia {4} Thailand

(5) None of these

India recent signed a Delence

Deal with tsrael. Which of the fol-

lowing statement(s) is/are true

" about the same 7

{A) India will purchase a state-of-
the art air defence system
-from Israel at a whopping cost

of US § 1.4 billion.

(B) A complex of 5 ordinance

plants would be established

in Nalanda.

{C) Israel will develop a sea-
borne and shore-based sys-
1em 1o protect India from mis-
sile attacks on it.

154,

1565.

156.

157,

. {1) Ony A

- {3) China

{1)Only A

(2) Only B

(3} Only C

{4)BothA&B

5YAlAB&C

Mr. Morgan Tsvangirai is the new

(1) President of Zimbabwe

{2) Prime Minister of Zimbabwe
(3) President of Kenya

{4) Prime Minister of Kenya

{5) None of these

Which of the following teams won
the ICC Women's World Cup
Cricket Finals held in March
20097

(1) Australia

{2) India

{3) England

{4) New Zealand -

{5} None of these

As we all can notice, the nature
of agribusiness in India has
changed a lot in the last few
years. This is because the food
habits of the people have
changed. What are these chang-

‘es ?

(A) The consumption of high val-
ue food like fruits, vegetables,
fishery and kvestock has in-
creased. Hence, farmers arg
shifting attention to these.

{B} The demand for processed
food and ready-to-eat food
has increased. Hence, agro

. business has become a lu-
crative option.

(C} The use of genetically modi-
fied seeds has started giving

- bumper crops and 60% of the
same is sold.as processed
food in local and fereign mar-
kets. '

{2) Only B

(3} Oniy C {4} All the three

(5) None of these

Which of the following countries

is NOT a member-of the Shang-

hai Cooperation Organisation
which was in news recently ?

{1 Russia {2) India

(4) Kyrgyzstan

(5) Tajikistan '
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168,

159.

160.

161,

182.

Under the Project 2011, the All
India Football Federation is pre-
paring players-for the matches o
be held in the year 2011 for which

- of the following events ?

{1} Olympics

{2) Asian Cup

(3) FIFA World Cup

(4) National Championship

{5} None of these

As per reports some state gov-
emments in India have put a ban
on the sale Ammonium Nitrate or
its other combinations in the
open market as the same is be-
ing used by some people as an
explosive. Ban on ¢pen sale of
such chemicals can be put under
which of the following Acts ?

{1} Explosive Substance Act

{2) Narcotics Act -

(3) The Trade & Marchandise Act

'(4) Dangerous Drugs Act

(5) None of these

Who amongst the following is the |.

author of the book “Flight into

Fear" ?

(1) Capt. Devi Sharan

{2} Admirai Vishnu Bhagwat

(3) Dr. Kiran Bedi

{4) Sri Jaswant Singh

{5) None of these

Which of the following is an inter-

national forum 1o discuss and

implement supervisory norm in

all the banks of the wotid 7

(1) Basel Committee _

{2) UN Charter on Commercial
Laws-

(3} International Board of Bank
and Finrance

(4) World Trade Organisation

(5) None of these

Which of the following states

ranked first in implementation of

.the Central Government spon-

sored scheme ‘Artificial Recharge

of Ground Water Through dug

Wells in Hard Rock Areas’ ?
{1) Madhya Pradesh

(2) Maharashtra

(3) Karnataka

{4} Tamil Nadu

{5) None of these

163

Which of the following is/are true
about the Competmon Commis-

~ sion which is set up recently ?

164.

165.

166,

167.

168,

“{A) The Commission is estab-

lished ta prevent practices
which do not support healthy
business competition.

(B) The Commission witl have
five members including the
Chairman, .

(G) The Commission has to en-
sure that the financial cpera-
tions of any business entity
does not get concentrated in
the hands of few people.

(1)Only A {2) Only B

(3)Only C (4) Alf the three

{5) None of these

‘Anti Tobacco Day’ is observed in

India on which one of the foliow-

ing days 7

{1) 13th Aprit  (2) 11th May

(3} 11th June (4) 31st May

{8) 30th June

Which of the following teams won
the. National Women’s Football
Championship Final {Seniorg)
held in March 2009 ? .

{1} Manipur

{2} West Bengal

(3) Tamil Nadu -

(4) Maharashtra

(5) None of these

Who amongst the following was
chosen for the award of Hoover
Modef 2008 for hisfther contribu-
tion to upliftment of poor and ru-
ral pecple ?

{1} 8hri Rahul Gandhi

(2) Dr. A.RJ. Abdul Kalam

(3) Mrs. Sonia-Gandhi

(4) Dr. Manmohan Singh

{5} None of these '

‘Who amongst the foltowing is the
author of the book “Cricket My

Style™ 7

(1) Sunil Gavaskar

(2} Ravi Shastri

{3} Kapil Dev

(4) Sachin Tendulkar

(5) Saurav Ganguly

Many times we react about For-
eign Investment in the country for
various project schemes. Why
should government promote the

169,
. in news recently as his party has

170.

idea of Foreign direct Investment

padticularly when it can provide

funds from its own resources 7

{A) tt is a supplement to domes-
tic investments and is pre-
ferred to bridge the invest-
ment-savings gap.

(B) Foreign Direct Investment

helps in providing better and -

advanced technology which

is sometimes not ava:lable
domestically.

(CY} It generates new employment
~ opportunities.

()OnlyA  (2)Ony B
(3)0nlyC  (4)Both A& B
(5) ALA, B&C

The name of Mr. Jacob Zuma was

won the general election in his
country with landslide victory, Mr.
Zuma is from which country ? -

{1} Algeria

{2} Lebanon

(3) South Africa
(4) Vnezuela

(5) None of thesa

As we all know, lot of people from

underdeveloped states migrate

“to various progressive states as

agricultural labour. What are the

. major probiems of agriculture in

1171,

India owing to which people have

to leave their own land and work

as labourer on somebody else’s
farmAand ?

(A} Lack of irrigation facilities, low
productivity of land and un-
certain monscon.

{B) Non-availability of fertil:zers,
etc. on subsidized rates.

(C) Single crop cultivation.

(1) Only A

(2) Only B

{3} Only C

{4)-All the three
(5) None of these

Yuki Bhambri who won an inter-

national tournament recently is a
famous __

N Badminton player.
(2) Chess player
(3) Pistol shooter -
(4).Lawn Tennis player
{5) Table Tennis player
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172. Who amongst the following is

NOT a recipient of the Padma

Shri Award given away recently?

(1) Penaz Masani '

(2) Aishwarya Rai Bachhan

(3) Sonam Kapur

{4} Kumar Sanu

(5)M.S. Dhoni

As we read these days, many

world economies are passing

through recession at present.
When can an economy be calied
“in recession” ?

{A} When a decline occurs in al-

173,

most all major economic ac- .

tivities,

(B} When the inflation reaches at
a very high rate or becomes
doubie digit inflation.

{C) When big financial scams and
- frauds start taking place. -

(1) Only A

{2) Only B

{3) Only C

{4) All the three

(5) None of these
- Vyas Samman is given for excel

lence in the figld of

(1) Film (2) Literature
_(3)Dance  (4) Music

{5) Science and Technology
‘Which of the following is true
about the “Village Grain Bank
Scheme" ?

174,

175.

(A) The Scheme was launched’

_to provide safequards against
starvation during the period
of natural cafamities or lean
season.

~ {B} The grain banks are set up in

food scarce areas like drought

prone areas, hot and cold
desert areas, tribal areas and
inaccessible hilly areas.

{C) village Panchayates who
were running village grain
banks earlier are now not

authorized to run the same.’

Instead the authority is now
given to NGOs and SHGs in
the village.
()OnlyA  (2)Oniy B
{3OnlyC - {4)OniyA&B
(BYAIA B&C :

[ ENGLISH LANGUAGE |

Diréctions {176 — 190} : Read the .

following passage carefully and an-
swer the questions given below it. Cer-
tain words are printed in bold to heip
you iocate them while answering some
of the questions.

Capitalism is a great srave but a
pathetic master. This truth unfortunate-
ly gets lost in our chass for the elusive
dream ..... especially in the West, the
land that hras been marketed as the land
of dreams — the great Western dream.
IV's the dream of being independent
masters of our lives, of making big bucks
and of being happy —even if that hap-
piness is being bought by money which
all of them chase out there. No doubt,

‘the West, on its par, has been fairly

successfulin creating material comforts

- a plenty. It has improved the living stan-

dard of its average citizen. However it

-has been achieved as a result of more.

than 20 years of unbridled growth and
exploitation. And that is what has made
the rest of the world mindlessly chase
Westernism, not necessarily happiness
or an ideat form of society. All because
the shop window looks very impressive
and it has been marketed very well,
But a deep look inside the shop tells
a different tale. A different world lies

'behind, a world that is not guite visible

1o the starry eyed millions— for whom
the Westemn way of life seems lo be the
uHimate dream.

Thus, we have Indians dream'mg
fo become or to get married to an NRI
and Indian middle class fathers dream-
ing of their sons reaching the Bay area
and landing tech jobs, unmindful of the
second class life thay end up leading
in the West. What goes unseen and al-
most unheard is that the West also hap-
pens to be the land that is right amongst
the top in terms of the number of di

vorces per thousand, the number of sin-

gle parent families per thousand, the
number of old people in old age
homes, the number of suicides, homi-

_cides, and of course, the number of

ollege/schaol shootouts,
And why notl After all, such soc:et-
ies are constantly driven towards high-

er profits and materialism. Expectedly,-

this materialism comes at a cost that
the wodd is paying today. This is the

reason why we have millions dying of
curable diseases in Africa and other
underdeveloped: countries, while the
rich grow richer. Their growth will be
reduced, if they were to start thinking of
the poer. So what do they do to justify
their greed for more ? They most
shrewdly propagate and market a 1
diculously primitive jaw of the jungle
for our 21st century civilian, the ‘Law of
Survival of the Fittest! _

The interesting thing about materi-
al things is that they only give an iflu-
sion of happiness; however such hap-
piness is always momentary in nature.
Ergo, at this juncture, you feel you are
the happiest persen in the world, after
buying your new car or flat screen TV,
and just a few days later, these are the
very possessions that cease 10 make
you happy. While you chase the bigger

‘car and spénd that exira bit of the
-wealth, you intercept someone’s share

of the daily bread and also sacrifice
those who have the maximum power
1o make you happy — family, emotions
and love. Prolonged abstinence in feel-
ing emotions finally destroys bliss; and
you don't even realize when you’ have -
beceme a dry-eyed cripple..... and then
you land up in a sermon workshop to
find out the real meaning of fife— or
whatever these workshops are capa-
ble of explaining. The truth is that such
workshops are also driven by mer-
chants who cash in on the dejected
state of the people, a state created by
their own fictional dreams. But by then
it's really too late.

.. By then, you have made profits out
of arms, and engineered wars to keep
that industry alive. You've sold guns
across counters at supermarkets and
made more profits. You've lobbied that

" guns should be made accessible to the

commen man, and all for the sake of.
profits. This makes you realize one day
that they are your own children who
are in the line of fire against the school
goer who opens fire at his schoolmates.

Thig is the society that finally cre-
ates an emotionless maonster, who gets
satisfaction in killing. innocent adults
and children alike for no cause, no rea-
son and for none, for himsalf, It is the
utter destruction of spiritualism and the
total focus on endless seif-gratification.
Where so many single parent families



and divorces exist, it is impossible to

bring up children or influence the Kill-

ers, any better, .

178. Who does the author hold re-

sponsible for the shooting spree

in schools and colleges ?

{A) Lack of love and emotion in
the society in general,

(B) Increased focus on self-grat- |

ification even when it comes
at the cost of innocent lives.

(C) Deteriorating social structure
teading to break up of fami-
lies resuiting in lack of moral
development in chidren.

{1) Only A (2)Only C

(3) Oniy Band C

{4) Afiofthese

{5) None of these

Why does the authior refer to the

law of survival of the fittest as ri-

diculous ?

(1) This law is primitive and holds

good for developed nations

(2} This primitive law is often used

to justify the accumuiation of
wealth by a selected few

{3) People from developing coun-

~ tries use it to rationalize their
immigratien to the Western
countries ;

- {4} It does not lead to any materi-
al profits and material wealth

(5) None of these _

According to the passage, which

of the following is a reason for

poverty and hunger in underde-

veloped countries 7

{A) Mindiessly chasing the West-

e way of living,

{B) They have fallen prey io the
idea of happiness through
material comforts rather than
love and etmotional bond,

{C) They do not have marketing
techhiques as good as the
western countries.

(1)Only (B)  (2) Only (C)

{3} Only {(A) .

(4) Only {B} and (C)

(5)Non mentioned in the pas-
sage

179. Why do the ‘starry eyed millions’

harbour a wish to become an
NRI 2

177.

178.

180.

i81.

182.

(A) They are driven towards high-
er profits and materialism.

(B} They appreciate the western
way of life as it appears to
them. .

{C} They have become emotion-

less and have lost any attach-

ment to the motherland.

(1) Only (A)

(2} Only (B) .

(3) Only (A) and (B)

(4} Only (C)

(5) All (A}, {B) and (C)

Why does the auther disregard

the Westem way of living even

though an average citizen in the

West enjoys better living stan-

dards ? _

(1) Many Indians want to ape their
lifestyle ieading to a cultural
dilution of their own traditions

(2) The West hads failed 10 mar-
ket, their lifestyle in an appro-
priate way

{3) According to him the law of

‘survival of the fittest’ is now
ohsolete

{4) it only iooks forward to mate-
rial comfort rather than happi-
ness within o

(5) None of these

What does the author mean by

‘intercepting someone’s share of

daily bread’ ?

{1) Hindering the process of mar-
keting in underdeveloped
countries by the developed
countries .

(2) Denying material comfort o
the Western world

(3) Affecting the social life of
those working towards mate-
rial comforts anly '

(4) Excess of wealth in western

 world while people in poorer
nations struggle for survival

{5) None of these

What does the author mean by

‘shop window of the West' when |

- - he suggests to look inside the

shop ?

(A} The sprawling super markets
have been making profits out of
inhuman activities.

(B} To look closely at the existing

societal structure rather than gu-

183.

184,

14

perficially appreciating the deiu-

sive dazzle. .

{C)To study their marketing tech-

niques closely. .

{1} Only A {2) Cnly B

(3) Crly Aand B ' '

(4} Only B and C

(5) Only C

The author's main objective in

wiiting the passage is _

(1) to explain that consumerist
societies have their own

. drawbacks which are over-
looked by those who are
blinded by its material glare
to explain how too many ma-
terial comforts have improved
the living standard of com-
mon man in the west

that young children should not .

be given access to guns and

other ammunitions

(4} All NRIs are leading unmind-
tful, second class lives abroad

{8) None of these

Which of the following is not true

according to the passage ?

(1) Over indulgence in accumu-
lating material wealth has led
to many problems on the so-
cial and emotional fronts

(2) People should visit the ser-
mons more often since this is
the only way 1o achieve
peace and happiness

{2}

{3)

. {3) Far the sake of making prof-

its, people have taken deci-
sians which have proved o
be harmful to the socisty.

(4y There ara plenty of material
corforts in the Western coun-
tries,

(5) None of these

_ Directions (185 —~ 187) : Choose
the word which is MOST similar in
meaning to the word printed in bold as
used in the passage.

185.

186.

SHREWDLY

(1Y Roughly {2) Rightly

(3} Rudely (4} Courteously
(5) Astutely '
CHASE _

(1) Follow (2) Capture

(3) Run {4) Caich

(&) Conquer ' :



187. ELUSIVE

(1) Terrifying  (2) Unusual

(3) Unachievable '

{4} Haunting

(5) Displeasing

Directions (188 — 190) : Choose
the word which is most QPPOSITE in
meating to the word printed in bold as
given in the passage.

188. DEJECTED
{1) Apologetic {2} Anxious
(3) Accepted (4) Elated
(5) Enlightened.

UNBRIDLED .

(1} Enthusiastic
{2) Controlled
{3) Rebellicus

. (4) Considerate

" {5} Approved
180. MOMENTARY
(1} Sporadic {2} Futunshc
{3} Brief
{4) Homogeneous
(5} Perpetual
Diraciions {191 — 200): Read
each sentence {o find out whether there
is any grammaticat error in it. The eror,
if any, will be in. one part of the sen-
tence. The number of that part is the
answer, If there is no error, the answer
is (5).1.e.'No error’. {Ignore the errors of
punctuation, if any.)

191, In emerging economies, (1) the
private credit market {2)/ remains
highly segmented and thus (3)/
weaken power of monetary poli-
cy. {4)/ No ervor (5)

The recent election carmpaign {1)/
has been one of (2)/ the most
naisiest campaigns {3V in the last

_decade. (4)/ No error {5}
Whalesoma strategic planhing

T89.

1.92.

193.

(1¥ was the focus as (2)/ the firm [

manage through a difficult peri-
‘od (3) a couple of years ago. (4)/
No error (5)

Inspite of the best governmental
efforts, {1)/ emission of green-
house gases {2)/ and noxious

194,

chemicals (3)/ remain a cause of

worry, {(4) No efror (5)

The rate pf metabolism of (1) a
‘body is comparatively lowest
when (2)/ it is at rest and is (3)/
thus optimum for examination,
(4)/ No error (5)

195.

186.

voters pressing (3)/ corruption
charges against rivals. (4)/ No
error (5) _

The recently imposed dress code
(1} in the-university has anraged

197.

{2)/ the students who will be go- |
ing {3)/ on strike since tomorrow.

(4) No error {5)
Ever since he took over {1)/ as
the chief minister of ine state, (2)/
rate for unemployment {3} has
dragtically increased. (4)/ No et-
ror {5)
Although the brilliant writer, (1)/
an lying (2)/ pessimism prevails
in (3) all her navels. {4)/ No error
(5) _
Changed social setting (1)/. de-
mands the schools to teach (2)/
moral and social values {3)/
among with the academic
- skills. (4)/ No error (5)
Directions {201 — 205) : Which
of the phrases (1), (2), (3).and (4) given
beiow should replace the phrase giv-
eh in bold in the foliowing sentence to
make the sentence grammatically
meaningful and correct. If the sentence
is cotrect as it is and ‘No correction is
required’, mark (5) as the answer.

198.

199,

200.

- 201, The grim job market has taken its

ioll on students, many of those
had hoped for a much better fu-
ture.

(1} much of whom

(2} many of whom -

{3) several of those

(4) many of which

{5} No cotrection required

202. The relationship we have with

our clients are the comerstone _

of our future,
{1} our client are
(2} each clients is
© {3) our clients is
(4) all clients are
{5} No correction required
203. Many developed countries have
" been attarnpting to buy agricul-
tural land in other couniries to
meet their own demand.

(1) has been attempting’
{2} have being atiempting
(3) are being attempting

The oppasition Jeader tried (1)/
_to bolster his position (2)/ with the |

204.

{4) have been attempted
- {5} No correction required
A nuclear tasting fills the air with
radioactive dust and left the area
uninhabitable.
{1) and leaves the
{2) also leaves the
(3) and leaving the
(4} and making to
{5) No correction required
#adern ideag of governance
started back te the time when
people hegan to question kings.
(1) started when
{2) set back to
{3) slart back to
{4} date back to
{5) No carrection required

205,

Diractions {2068 — 21Q).= Rear-

range the following sentences (A), (B},
(C), (M, (E} and {F) in the proper se-
guence to form a meaningful para-
graph; then answer the guestions giv-
en betow them. _

{A) Had it been not for them, Indi-
an banks would have had their hands
tied down too,

{B) Today almost all the countries
are facing the heat of recession.

(C) One of these is the strict RBI

and SEBI rules which regulaied bank-
ing-sector very efficiently.

(D) This could have led to massive
losses to them, which could have per-
colated to other sectors as weil.

‘{E) However there are a few things
which help India in bouncing back from

'the State of recession.

{F) Like others India too has not
remained immune ta the epidemic.
206. Which of the following sentence

shiould be the THIRD after rear-
rangement ?

(MA @ E -
(3)D 4F
5 C '

207. Which of the following sentence
shouid be the FIRST &ﬁer rear-
rangement ? )

(A (2] B
(3)C @D -
{5 E
208. Which of the following senience

should be the SECOND after re-
arrangement ?

15
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(HA @B
(3)D 4 E
(5)F

208, Which of the following”semence
should be the SIXTH (LAST) af-

ter rearrangement ?

(me @€
(310 {4)B
(5)F '

210. Which of the following sentence
should be the FIFTH after rear-

rangement 7

(1)8 (@c
() A 4E
B F

‘Directions (211 - 215) : Each
question below has two blanks, each
- blank indicating that something has
been omitied. Choose the set of words
for each btank best fits the meaning of
the sentence as a whole.

211. The organization._ . _ to pop-
wlarize Indian classical music
among the youth which has jost
with its cultural roots.
{1} endeavours, touch
(2) wishes, interest
(3) efforts, experience
{4) exens, intrigue
(5) nead, relation .
One of the major critiques of the
examinalionh system is that it
to a spirit of _Ccom-
pedition among the siugdents.
{1) results, defective
(2) dccompanies, adequate
(3) develops, intense
{4) takes, sevare

. {5) leads, unhealthy

213.

- 232,

in the sky, usually at
might, ____ in the Pelar regions.
(1) walch, upward
(2) noticed, peculiar
{3} observed, only
(4) found, most
(5} follows, mainly
214. After the board examinations,

“students are . up for the

various entrance examinations
for next month.

(1) ready, timed

(2) gearing, scheduled

{3) prepared, programmed

Agroras are natural kght displays

(4) set, duration

{5) geared, kept.

The governmental __ ___ |

spurred dramatic improvements

in the way waste management is
__ outin many hospitals.

{1Yyrule, thrown

{2) plans, conduct

(3) crusade, done

(4) efforts, carried

{5) venture, disposed

215

. Directions (216 — 225} . In the
following passage there are blanks,

each of which has been numbeared.
These numbers are printed below the
passage and against each, five words/
phrases are suggested one of which
fits the blank appropriately. Find out the
appropriate words/phrases in each
case. ' _
Today it is {216) recognized that
the 21st century will be driven by knowl-
edge. To (217) the challenges of this
cantury, india needs to usher in a
knowiedge revolution that (218) to
bring about systemic changes in edu-
cation.

While our economy has made sig-
nificant strides, the education system
has not kept (218) with the aspirations
of the youth. The vast digparity in the
country today is a result of skewed
{220) to knowledge. To address this we
need a substantial expansion in edy-
cational opportunities, with a special
(221) on inclusion of the underprivi-

leged,

At the bottom of the pyramid,
steps must be 1ake 1o {222) access to
quality education. While the govern-
ment has taken steps 1o ensure educa-
tion to all, where it lacks in its efforts is
the qualily perspective. Being a spiral-
ly upward drive, education can not be
{223) to improve at ths higher lsve lest
it improves at the very grass root level.
The top of the pyramid, i.e. higher edu-
cation is also uneven, Students strug-
gle to compele in the exams which
(224) a sound knowledge of English.
While candidates are expected to trav-
el ‘several kilometres to reach school
1o obtain any education, the higher
education organizations often (225)
candidales from vernacular media
through State sponsored exams and

-proudly affirm them as ‘unbiased’.

216.
217.
218.
219.
ézo.
221,
222,
223,
224,

225,

(1) thickly
(3) ample
{5) considered
(1} adhere 1o (_2) gather

(2) widely
{4) parly

- {3) cover (4} contact
{5} meet
(1) sought (2) wanted
(3) seeks (4} atiempt

(5) determined

(1) adequate (2) sufficient

(3} influence  (4) pace

(5) ahead

{1} atcess (2) approaching
{3} rights (4) infiltration
(5} excess

(1) aspiration (2} intensity
(3} important  (4) place

{5) emphasis :

() enjoy  (2) help

(3} provide (4} diminish
(5) deepen

{1} awaited = (2} judged
(3) thought (4} expected
{5) said '

(1) demand  (2) has

(3) consume (4} expects . -
{5) wants o

(1) discourages {2} disobey
{3}-contest {4) assume
(5) reject



ANSWER

(e SHORT ANSWERS s |

.41 2@2)] 34 4@
5. (1] &0y 7.(1y 83
L9050 103y 113V 12 {1}
13.(4)| 14.{3)} 151 16.(1)
17.(5)F 18.(3)] 19.(4] 20.(2)
21.(3)1 22 (5)) 23.(1)] 24.(5)
25 (4)| 26.(2y| 27.(5)] 28 {4)
29. (1] 30.(3)} 31.(5)) 32
3B (3] 3.2 36 (4)
37.(2){ 38.(5)] 38(H| 40.(2)
41, (1)) 42.(3y| 43.(5)] 44.(3)
45 (1) 48.(4)| 47.(3)] 48.(4)
49.(13] 50.(3)] 51.{4)] 62 (4
53.(2); B4.(1)] B55.{5)| 586.(4)
57.(5)| - 58.(1)] 59.(4})] 60.(4)
81.(2)] 62 (5| 63.(5} 6&4.(4)
85. (13| 66.{4)] 67.(5})] 68.(3)
89. {1l 7.(2)] 7.{N] 72(2)
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73. (5)
77.(5)
B1. (5}
HEES)
89. (1)
83. (2| 4. (3)

97.(3)| 98 (5)
101, (3)1 102 (5)
105. (5) L1_oe.-{2;
109. (4) ] 110. (1}
13. ()] 114.(2
117.(3)[ 118. (4)

74, (4)
78, (2)
&2 (1)
88. (1)
50, (5)

75. (3)
79. (4)
XD
87. (4)
91. (2)
95. (4)
99, (3)
108. {1}
107. (3)
111, (5)| 112.(3)
"145. (4| 116. (1)
119. ()] 120.(2)

128, (2)] 124. (4)
127. (1)

128.(2)
131. (5)] 132.(3)
135.15)

138, (1)
138, (3)] 140.(1)
143.(3)} 144.{2)
146, (3)] 147.(2)] 148.(2)
151, {1}
158. (3)
158, (1)
163. (4)
187.(3)
171. (4)
“175. {1}
179. (3)
183. (1)
187. (3}
191, (4)

121.(3)} 122. (5)]

_ 125, (131 128. (2)
: 130. (2)

129, (3}
134. (5)

133. (2)
137.(2)] 138. (4)
142.{1)

ELAE)
146. (3)

145, {3}
150. (4}

| 149, (4)]

153 (1)] 154. (2

157. (2)| 158. (2)

| 181.(1)] 182. (2}

185. (13| 186.(2)
170. (1)

169, (3)
174. (2)

173, (1)
177.(2)] 178.(5)
182. (3)

181. (4)
185, (5)] 186.(1)
190, (5)

186, {2
160. {1)
164, (4)
168. {3)
172, {3)
176. (4)
180, (4)
184. (2)
1B8. {4)
192, (3)

152, (4)].

189. {2}

183, (3)] 194. (4)

197. (4)| 198.(3)

201.(2)] 202.(3)

205, (4) | 208. {2)

208, (3){ 210.(3)
214, (2)

213.(3)
217.(3) [ 218. (3}
232, (3)

166. (2)
199, (2)
203. (5)
207. (2)
211. (1)
215. (4)
219. (4)
223, {4)

196. (3)
200. (4)
204, (1)
208, {5)
212, (5)
216. (2)
220. (1)
224, (1)

| 221.(5)
25_{2)

| (== EXPLANATIONS mmemm |

1. (4)Mustard is an oilseed (seed):

. Similarly, carrot is a modified root.

{2) Meaningful Word => REST

3. (4) ExceptPiate, all others are used
for storing water {liquid). _

4. {2) Except Mercury, all others are
-solid at normatl room temperature:

e

Mercury is liquid- at normal room
temperature.

250"

Simitarly, .

5. (1)

p—* .,y

8 +6Y

8. {1) Exceptthe number 217, all oih-
erg are Prime Numbers.
7. {1}Mis motherof Kand T.
W is brother of M.
Theretore, W is maternal uncle of T.
8. (3)Gram is the unit of mass. Simi-
larly, Centimetre is the unit of
length, .
8. (5)1+2==>0dd Nurmnber
2+8=1+0=0dd Number
5 +2 = 7 = Odd Number
B+8=14=1+4=5
* = Ogd number
9+6=15=1+5=6+
= Even Number

{3) The colour of sky is blue. But
here blue has been called yellow.

10.

1812 5 18

11. (3) 19 20 1
S T A P L E R
12.{H)M O D EL D EAR
' N A A A
51 3 #2 3 #%8
Therefore,
L O AD
I 1 4 |
21 % 3
13. (4
NW NE
W E
SW SE
'S
14.(3) 5 ]T 6 1 9 [8] 3
{
2.3 5 & LSJI 9

(16-20):

16.

17.

{1y Ali berches are cots - Univer-
sal Affirmative {A-type).

(i) Some lamps are candies —
Particuiar Affirmative {I-type).
(iii}No cot is lamp — Universal

Negative (E-type).
(iviSome cots are not lamps —
Particuiar Negative (O—type).

(1} -All benches are cots.

No cot is lamp.

A + E = E-type of Conclusion
“No bench is lamp?

Ng cot is lamp.
Some lamps are candles.

E +1=» O,~type of Conclusion
“Some candles are not cots”
Conclusion i is Converse of the first
Premige.

(B) Some cats are dogs.'.

Al dogs are goats.

| + A = A-type of Conclusion’
“Bome cals are goals’,

Al dogs are goals.

All goats are walis.

A4 A = Artype of Conclusion

“All dogs are walls”
Conciusnon } is Converse 01 it.

"'Some cats are goats.

All goats are walls.
i + A = |-type of Conclusion

“Some cats are walls”. _
Conclusion 11 is Converse of it

18. (3) All the three Premises are Par-

! 19.

ticular Affirmative {I-type).
No Conclusion follows from the two
Particular Premises.

Conclusions | and |l form Comple
mentary Pair.

Therefore, either Gonglusion | or li-
fotlows.

(4) Some bats are desks.

Alf desks are chairs.
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| + A= I—type of Conclusion
“Some bats are chairs.”

20.(2) Some roads are ponds.

. All ponds are stores.

I'+ A = I-type of Conclusion
“Some roads are stores”
Conclusion !l is Converse of it.
{21 -25).

Student | Ciass Favourite
Colour
P H . Grean
Q LIl Black
R v Red
S P Pink
T Vi Yellow
M v Blue
(26 ~130) :
O=g|%=p] k=2
B@=<|gem= i
26. (2)K @V:K-:V
VYON=VeN
_ N%F=Nx>F
Therafore,
K<V<NzF
Conciusions

L F@V = F<V:NotTue
H K@N = K<N:True
27. (5)HOW = H<W
WEM=W=M
‘M@B=>M<B
Therefore,
HzsW=M<«B
Conclusions
L BxH = B>H:Trus
. M%H = M>H:True
28. (D% B=D>8B
BxT=B>T
TEM=T=M
Thereforg, .
D>B>T=M
Concluslons
. TOD = T<D:NotTrue
. MDD = M<D:NotTrue
28. ()M*xT=>M>T
T@K=T<K
K@N=Kx<N
~ Theretore,
M>T< K<N

© Gonclusions
. N*xT = N>T:True
. N#M = No>M:NotTrus
30. (3)R$J=>R=J

J%D=J2D .
DxF=D=>F

Therefore,
R=JzD>F

Conclusions

L D$R = D=R:NotTrue

I D@R = D<R:NotTrue

Either | or Hl is true.

your
36
was
25
56
25
56
25

56

your
56
25

now
gate

fail
gate

stay
64
your
36
was

.36

stay
36
stay
25
stay
your

52
34 -
now
34

power now -

gate
52
gate
52
24
52
now
52

34
power
34

- Qate

34
gate
24
gate

power 24

52

46. (4)
input how was
56 25
Stepl :64 how
-stay 56
Stepil : 864 how
: . Your stay
Step lll : 64 how
. was  your
StepivV : 64 - how
36 was
StepV :64 how
S 36 was
Step V is the last step.
47. (3)
Input  : power fail
24 -75
Stepl :75 power
52 24
Step!l : 75 fail
52 24
Stepill : 75 fail
1 now 24
|- BteplV : 75 fail
_ power now
StepV 75 fail
" 34  power
StepVl : 75  fail
34 now
Step VIl : 75  fail
34  now

24

gate
power

48. (4) From the given step itis not pos-
sible to determine the input.
49.(1)

(31-40);
Candidate CRITERIA
L) L] (i) or (@)[{iv) or (b){ (V)
Meena [/ |V | -1 = |
Ketan (/' (V¢ | — |V - X%
Anant |/ |/ |V =1V -
Mohan |/ |« v —| ¢ —~ NG
Gopal |« | v| x x| v -
Arun A AN A rd -
Asha /(v x | x|V -1
Sudha |v |v'i v/ - - | v
Amit. /1| - ars -
| Navin_ | x|/ & -1 -1
M T UK D L P
A A A
1.© 4 6 2 7
423 E F D M. K A
N A A R AN
* % B 5 4 «
Condition {ii) is applicable.
435 A PW T UH
114 4 14
3 7@ 1 ®3
Condition (i) is applicable.
44{3) M AR T WE
N N A P A
$ 84 1 @5
Condition (i) is applicable,
451 HHEM K 2 | -

A A A
2 $5 4 93
_ Condition (i) is applicable.

_ {46-50) : From the analysis of giv-
en input and various steps of rear-
rangement, it is evident that alternately
one number and one word are ar-
ranged. The numbers get arranged in
descending order and the words get
arranged as per dictionary.

35

" Stepll 75 down 16 24
farm eager 62 - sky
JSteplll : 75 down 62 16
1 24 farm  eager sky
StepIV : 75 down 62  eager
' i6 24 farm - sky
StapV : 75 down 62  eager
24 16 farm sky
‘BtepVi : 75 down 62 eager
. - 24  farm 16 . sky
-50. {3} :
inpit 14 35 when they
: - came 61 48  home
Stepl :61 14 35  when
o thay came 48 home
Stepll : 61 came 14 35
when they 48 - home
Steplll : 61  came 48 - 14
when they home
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SteplV : 61 came 48 home
14 35 ‘when they
StepV :61 came 48 home
35 14 when they
StepVI : 61 came 48 home
36 they 14  when
56. (4) Congidering the nature of prob-

57.

e, Courses of Action | is not nec-
‘assary. Again, it is mentioned in the

statement that water supply is dis-
rupted due to loss of water owing
to leakage in pipes supplying wa-
ter. Thus, reason for disruption of
walter supply is known. Then, what
is the need of setting-up of fact-
finding mission.

(5) Both the Courses of Action are
suitable for pursuing. In case of
outbreak of malaria adequate sup-
ply of drugs in necessary. Again
the. people should use mosquito
repellants and keep their premises

~ clean te check breeding of mos-

58,

59.

0.

61.

quitoes.

(1) Only Course of Action | seams
1o be suitabie for pursuing. Course
of Action 1l is too harsh to be suit-
able.

{4) Neither of the Courses of Ac-
tion is suitable for pursuing. A
courge of action is taken to solve
or reduce a problen.

{4) Neither of the Courses of Ac-
tion is suitable for pursuing. The
Government should take some oth-
er measure to discourage drop0ut
in government schools.

(2) Only assumption | seemsto be

implicit in the siatemen!. Pegpie |-

who feli ifl were rushed to the near-
by hospitals, It implies that the
ngarby hospitals were able to al-
tend to all the affected people.

{5) Both thg assumptions are im-
plicit ire the staterment. If the gov-
ernment was not able to supply
adequate power, such promise
has not been made by the govern-
ment. Any measure taken by the
govemment for the benefit of peo-

~ ple is graciouly welcomed by the

a

people.

(5} Clearly both the assumptlons
are implicit in the statement.

{4} Nene of the assumptions is
implicit in the statement,

67.

69.

T0.

* last design moves to the first posi-

The government issued instruction
assuming that the authorities of
private schools may follow it.

(1} Only assumption | is implicit in
the staternent. If traffic is disrupted
on a busy road, diversion is made
for smaooth traffic,

(41 In gach subsequent figure all
the designs rotate through 90°
anticlockwise, the larger designs

become smaller and vice-versa,

the last design becomes the first
design and two adjacent designs

~inferchange positions.

(5} in each subsequent figure ali
the designs move one and half
steps in anticlockwise diregtion. In
the first step the second and the
fifth designs are replaced with new

designs, in the second step the first |

and the fourth designs are re-

‘placed with new designs and in

the third step the middle desigr is
replaced with new design. These
three steps are continued i the
same order in the subsequent fig-
ures. '

. {3} In each subsequent figure the

pre-existing design rolales
through 90° clockwise and respéc-
tively one, ong, one, four, four ...
design(s) is/are added in a set or-
der in the subsequent figure.

(1) In 2ach subsequent figure one

design is added in anficlockwise
direction. Alternate designs rotate
respectively 90° anticlockwise and
clockwise, :

{2} From Problem Figure {13 10°(2)
the designs move one and half
steps in clockwise direction, the

- tionand a new design is introduced

at the last position. From Preblem
Figure (2} to (3} also the designs
move one and half steps in ciock-
wise direction, the last two designs
move ahead of the other designs
and a new design is introduced at
the last position. From Problem
Figure {3) to (4) three designs

- move ahead of the other designs,

From Problem Figure (4) to (5) four
designs move ahead of the other
designs and hence from Probiem
Figure {5) to Answer Figure five
designs would move ahead of the
other designs and a new design

71.

72,

73.

would be intraduced at the last
pasition.

(1) From first figure to second fig-
ura one design rotates through 90°
ciockwise while the other three
designs rotate thraugh 90° anti-
clockwise,

(2} From first figure to second fig-
ure the design rotates through 90°
antictockwise and the first and the

- third designs interchange posi-

tions, 50 as the second and the
fourth designs.

{5} From first figure to second fig-
ure the plane of design rotates
thraugh 80° anticlockwise and the
designs of the secend position
move to the first position and the
designs of the first position move

- to the third position, the designs of

the third position move to the last
position and the designs of the [ast

" position move to the second posi-

tion, Again, the number of two

" types of designs at the first and

74,

75.

third pesitions is increased by one
while the number of other two
types of designs is reduced by one.
{4) From first figure to second fig-

.ure the design rotates through 45°

anticlockwise and the smaller de-
sign is laterally inverted.

(3) From first figure to second fig-
ure the arrow at the. upper left cor-
ner rotates through 45° clockwise
while the arrow at the lower left

.. corner rotates through 45° anti-

clockwise, the arrow at the upper

- right corner rotates through 138°

- clockwise and the arrow at the tow-

76.

77.

er right corner rotates through

~ 1357 anhclockwrse

- 8x250
(1)7=28x15+ ——130—'
=42+20=2472

23 29 8 _
(5) 5
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79.

80. (3) +27=

81.

87.

=8x%

87 x 26
524

_ 87 xg?
824

= pf = g7+~ 24 __ o646

7=66 _
160 x 250

(4) -B"'t =

- 120 %400

00 ~ 100
= 400 + ?-= 480
. ? =480 400 =80
(5) The pafiemn is :
2x3+2=6+2=8
Bx3+2=244+2=26

26x3+2=78+2=[80]
80x3+2=240+2=242

. (1} The pattern is:

3x1+12=834+1=4
4%2+22284+4=12

12x3+32=36+9=[45]

45 x4 +4Z2 =180 + 16 = 196

. (4} The pattern is ;

9x2-1=18—-1=17

17x2-1=34-1=[33]

Px2-1=66-1=65
65x2-1=130-1=129

. [2) The pattern is :

Tx2-1=14-1=13

13x2-1=26-1=[25]

26x2-1=50-1=48

A9 x2-1=88-1=97
. (3) The pattern is :

5%x05+05=25+085=3

.3x15+15 45+15= 6

6x25+25=15+25=[175]

1765%x35+35=6125+35
=8§4.75

{1) The committeg will be formed
as follows ;

(i) 1 woman and 2 men

{ii) 2 women and 1 man

(i) 3 women

. Required number of committees
=5C, x 4C, + 3C, x 9C, + 5C,
4x3 5x4_, Bx4x 3
X2 ix2 T Ixox3
=30+40+10=80

(4) Let the present ages of Amit and

his father be 2x years anhd 5x years
respectively,

91,

2x+4 5
" Bx+4 11

=2+ 20=2Px + 44

f 24 .
o= 3= 247—})(“?:8

». Father's age 5 years ago

=5x—5=5% 8- 5= 235 years

88.
respectively.
V. 2% = By
= x>=3y

Mo ratio can be obtained between

xandy,
. {1} Let the cc:-st price be Rs. x.
*. 90% of 15000 = 108% of x

_ 90x15000
= 108

.~ x=Rs. 12500

90. (5} Let the cost price of 1 pen be |

{4} Let the numbers be x and y |

Rs. x and that of 1 pencit be Rs. y.

S 8x+dy=176
antd 2x + 2y = 48
=X+y=24=y=24-x

i}

Putting this vatue in equation (i},

Bx+4(24-x) =176

= 8x—4x =176 —96 = 4x =80

sx= =20

- CPof1pen=Rs 20

in which T comes twice.

(2) The word TOTAL has 5 letters

.. Total number of arrangements

=_5_{ -~ 5x4x3x2x1=60'
2! 2%x1
' 22 -
99, (5}t =616 =>—,F—r2:616
616x7
=r=—p St

r= /106 = 14 cm

= Circumference of the circle

=2:1;r;= ZX%%X14=88cm

93. (2)
1
{B+C)'s 1_ day's work = e
{A+B) s 1 day's work = 12

el

i)

85,

{A+CY's 1 day’s work = 7=

On adding all these' three equa-

tions, _

Z{A+B +Cj%s 1 day’s work
1 1 1 8+4+3 13
=t —t— oz =
8 12 16 48 48
1

=(A+B+CYs1dayswork= 96

~ A, B and G together can com-

96 5
plete the work in — =7 —

13~ ' 1a days

. (3) Interest is compounded half

yearly.
» R=20% p.a. = 10%/half year-
T =2 years = 4 half years

. Cl= p{[1+1_1;.6}T-1} |

10000
11
10000t —<| -t

[10] }

()3
1,100

)
2?1 21 |

mxﬁuﬁs 4841

(4) Let B's income = Rs. x

150 3x
= —~—-x.r Rs,
- A's income = 100 5

]

—

——,
L e
-

—

=

121
100

10000

= = 10000 x

Csi ' 120x3x—ﬂ 9x
sincome= oo X5~ =Rs. —

3x  9x
to—t——= 86000
T2 s

10x+112'>;+18x - 86000

= 43x = 860000
860000

=

= 20000

= X=

- C’sincome

9
—Rs( ><20000J Rs. 36000

. (4)2 ~ 8000 + 72 x 50
= 8000 + 3600 ~ 11600



97. (3} 7 = (252 — (16)

100.

101,

(B} ? = 330x1225— 1

= (25 + 16) (25 ~ 16) = 41 x 9 =~ 369

365
5
= 4655 - — 24~ 4631 ~ 4630

3

25500 %180 , 29000x 50
100 160

~ 45900 + 14500 ~ 60400

(1)2=172x 15+ 25

172x15
w ———— = 1032

T 25 _
~ Approximate answer = 105
(3) The data in statement | alone
or in statement Il alone are suffi-

=

 cient. We can find the ratio of pro§-

102,

. 103.

104.

108.

108,

it sharing as ratie of amounts of
investment can be determined
{5} Let the number be 10x + y.
From staternent I,

X+y=6 :

Many such comblna!tcms are pos-
sible.

From statement Il

x=2y

Taking both the statement togeth-
or,
~3y=6=sy=2andhence x=4
~. Number = 42 '
{1} From statement | alone,
Principal = Rs.x, R=?,51.=x

T =10 years.

- 8.1 x100
= Principal x Time

N X x 100
T xx10

=10% .

gion,
From statement |,

1
(A +8)'s 1 day’'s work = 13
As 1 clays work is not known.

{5} Fram both the statements,
bx+4 17 '
X+ 4 5

= 25x + 20 = 17x + 68

= 8x=48=x=8 '
Mother's presentage =5x 8

= 40 years '
(2] Average numher of instru-

ments manufacturad by oompany :

C over the years

(4)' Statement | 1 gives no goncly- |-

=

107.

. {48 +52+50+ 45+ 55+ 47

G ) lakhs

" oy
= —gz- lakhs = 4950000

{3) Ndmber of instrurnents manu-
factured by all the companies in
2004

= {48 + 36 + 50 + 43 + 56 + 48)
lakhs =281 lakhs

- ‘Required percentage
56

o —— %100 = 20
. 281

108.

(1) Total number of instruments
manufactured over the years by :
Company A = {45+ 40 + 48 + 49
+ 46 + 52) lakhs = 280 fakhs
Company F = (49 +45 + 48 + 44
+ 50+ 52} lakhs = 288 lakhs
Hequired percentage

280

= %—-—XIOG 97
288

109,

110.

111.

112.

{4) Total number of instruments
manufactured by company B over
the years

= (35 + 32 + 36 + 37 + 30 + 38)
lakhs = 208 |lakhs

. Required percentage-

=37 100~18
208

(1) Total number of instruments
manufactured by all the compa-
nies in : ' '
Year 2007 = (52 + 38 + 47 + 40 +
51 + 62) lakhs
= 280 lakhs
Year 2006 =» {46 + 30 + 55 + 50 +
54 4+ 50} lakhs = 2B5 lakhs

. Required ratio = 280 : 285
= 56 57

(5) Total population ot state B in
ail the years

={60 + 40 + 80+ 70 + B0 + 90 +

100) lakhs = 490 lakhs .
Population of state B in 2002
= 40 lakhs

. Fieqwred percentage

40
= ——x100=816
490

(3) Required ratio

= (40 + 45 + 60) : (80 + 90 + 100).

=145:270=29:54

113.
114.

115,

116.

22
(1} It is obvicus from the graph.

(2) Percentage rise
70-60 50 |
= *100 = — 16~
0 . 3

{4) Average_ population of the
state A '

i {40+45+60+50+70+'65+80)

7

N 410 R
lakhs = . lakhs = 58 lakhs

{1} Total number of emplloyees in
administration department

2500 x 12

= ———=300

100 _ _
Number of male emplovees
- _
e 300 e 175
2

Total number of employees in
printing department

2500x 6
- 100
Number of male employees

2 .
= = x150 =100
.3 :

=150

-~ Required ratio =175: 100=7:4

117.

118.

{3) Reguired difference

=2500 x (18 - 14)%

_ 2500x4
100 :

(4} Total number of employees in

=100

. HR department

2500 x 16

‘_’ = ——— =400

C 100
N_umber of males

5]
= —x 400 =250
8X

and number of females

=400 —-250 = 150

Number of employees in market-
ing department

_. 250015

=375
1060

Number of males

375 =175
15

. Number of females

=375-175=200 .
. Required ratio
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120.

121,

122,

123.

124,

125.

= (250'+ 175) : {150 + 200)
=425:350=17:14

(2) Totai number of employees in_

logistics department

2500 x11
o 100
Number of males -

- 275

= £x2753150
11

Number of females

=275-160=125
.. Required difference
=150 -125=25

{3) Average percentage
CB2+74+92+84+66+64

G
= @: 770
3]
. 50x77 -
- Required average = T

=3B8.5
(5) Marks obiained by E in ali the
subjects

=36 +33 + g2
N 75x 87 L1624+ 78x%120
100 S 100

=151 + 65.25 + 62 + 93.60
= 371.85 _ _
~ Required percentage

62

= x100=17
37185
(2) Overall percentage in English
66+84+72+60+78+54
- ' 6 .
=2 e
6 .
{4) Marks obtained by D in ; -
History = 38 :
Maths = 83
) ~ 75x=81 :
Science = 00 = 80.75
120x 60
i =172
English = —; 100
-~ fotat marks

=38 + 83 + 60.75 + 72 = 253.75
(1) Totat marks obtained by B in
all subjects together

AN L R7 L 73

618><75+76Jr
160

84 %120
100

= 150 + 49.50 + 76 + 100.80 = 376.3

18s.

186.

187.

(5} The meaning of the word
- Shrewdly (Adverb) as used in the
passage is : understanding and
making judgements about a situ-
ation cleverly; astutely; showing
good judgement. :

Hence, the words shrewdly and
astutely arg synonymous.

(1) The meaning of the word
Chase {Verb) as used in the pas-
sage is : to run after somebody/
something in order 1o catch them;
to try to obtain or achieve some-
thing. -

Look at the sentence :

Too many men .are chasing too
few jobs nowadays.

Hence, the words chass and fol-
low are synonymous.

(3) The meaning of the word Elu-
sive (Adjactive} as used in the
passage is : difficult to find, define

" or achieve; unachievable

188.

Look at the sentence :

A solution to the probiem of toxic
waste is proving elusive,

Hence, the weords elusive and
unachievable are synonymous.
(4) The meaning of the word De-
jocted (Adjective) as usedinthe
passage is ;: unhappy and disap-
pointed; despondent. '
Look at the sentence :

He locked so dejected when he

- lost the game.
- Of the given alternatives, the word

189,

Elated (Adjective) means : very
happy and excited because of
something good that has hap-
pened.

Look at the senterce :

They were elated at the result.
Hence, the words dejected and
elated are antonymous.

(2} The meaning of the word Un-

- bridled {Adjective)} as used in the

passage is : not controlied and

" therefore extreme.

190.

Hence, the words unbridied and
controtled are antonymous.

(5) The meaning of the word Mo-
mentary (Adjective) as used in

191,

192,
"~ Hence,

183,

196.
.itive Degree.

196,

197,

198.

199,
-200.
202.

204.
< testing’ is Singular.

the passage is : lasting for a very
shoft time; brief.

Of the given altematives, the word
Perpetual (Adjective) means :

continuing for a long period of time

without interruption; continuous.
Look at the sentence -

We lived for years in a perpetual
state of fear.

Hence, the words momentary_

and perpetual are antonymous.
(4) Here the subject the private
credit market’ is in Singular. Num-
ber that will take. Singular Vert.
Hence, ‘weakens power of mone-
tary policy’ should be used.

(3) It is unwise to use double su-
perlatives,

‘the most nmsy cam-
paigns’ should be used.

{3) The sentence shows past time.

Hencg, use Simple Past here i.e. -

‘the firn managed through a diffi-

_cult period'.
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{4) Here the Verb will agree ac-
cording to the Number of the word
‘emission’. Hence,
cause of worry’ should be used.

(2) It will be proper to use the Pos-

Hence, The rate of metabolism of
a body is comparatively fow
will be correct sentence.

{3) Group of words ‘with the vot-
ers by pressing’ should be re-
placed by ‘among the voters by
pressing’.

(4) Heplace on strike smce tomer-

70w’ by ‘on strike from tomorrow.

Preposition ‘since’ is used 10 show
a time in: the past untii a later past
tirne or until now.

Look at the santance :

He has been working in a hank
since jeaving schoal.

‘remains a-

(3) Replace ‘rate for unemploy-

ment’ by 'rate of unemployment’.
(2} There is an Article related er-
ror. Heré, 'a lying’ should be used
as ‘1’ sounds as a congonant.

(4) Repiace ‘among with the aca-

demic skills' by ‘along with the -

acadermic skills.

{3) Here the subject ‘The relation-
ship’ is in Singular Number.

(1) Here the subject ‘A nuctear
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